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Lt?hXJ1.3  = 8 "-~lu~lan$U

yf, -Ke2
rn - 2

rn
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nh
” =-” mr, (5.6)

V” = v 1, 11 11 “1
d h Ke’

2 1 =3 , 4 ) . . . . . LaJO v, mr, =h

E, = $mv:+  ( -5)
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6YJlfU  ” - -E = K*e“m  K2e4m
2nW - n%Z

E, = -$ (9) n = I, 2, 3, . . . . . (5.10)

VI% E, = 3
n*

(5.11)

t&l E ,  = -s = - 13,58eV (5.12)

- 0 . 3 8
1::;:

- 1.51

i?n1ur&  1 - 13.58eV

(a)
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R  _ KZeJm__  =
47&c

109740 TN;’

(5.17)
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102583
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”

ihf&lr
V

w = 7”

p=MV

m r
TN =-

m + M

QU?ll~  (5.20) QKK&U  M Mr = Mrc+Mr,

RUfllf  (5.23) RY&URU?ll3  (5.19) Mr-mr, = Mr,

(5.23)

Mrre = -
m + M
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mw (*)*+Mu (*)* = nA

LLYlWh  re PIfEW? (5.24)

= (M+m)p’
2mM
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M m m
v =M+m = I + (m/M)

(5.29)

LJ1Al%JlTtl&JUIIJfll~  (5.26) (5.27) bll: (5.28)bbd

,u&  = nh (5.30)

E , ,  =  -5 (3)

P M-=
m m + M

I836=-
1837

,  f

K2e4p
R, z-z

4Mc
I .0967758 x 10' bU@W'
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R _ Kze4m--=cs 47&c
1.0973731 x Io’LsJm-’

R ‘RR, =M =m

RsH  = R_ (A) = l.09678x107LU@lT'
'H

R :,,  = R- ( Mjl:‘m ) = 1.09707 x 10’ was-
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v  =  CR (+-5)

= CR ($)
’ f

= cR (ni  +nJ  (ni  -nf)
2

nF,
I (5.38)
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J -

-!% An
=z mr3

1 K e
“‘jJ;; 7;;;jJ- (5.41)
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E =  -L  PK* (Z2e4)
n nZ  2??
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G7l=l
TL,  =  1

(n)

2:

@

+---4aq3
to

?L=2

n,=  1

n=2
f&a=  2
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n%*
Tn = - = n2r,  ; n = I,  2, 3, . . . . . . .

Kme*

E ” = -!?I = -13.58  eV
n* -2

E = 2 fiK2(Z2e4)
n n2  2h2

1-zz
1 Z*R,  (1-1)

“/  “i
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